
knightgroup.co.nz

Assembly Instructions
Cygnet

Tools Included: Allen Key



knightgroup.co.nz

Assembly Instructions
Cygnet

Parts

Step 2Step 1

A 1 x Back B 1 x Arms

G 1 x Mech

C 1 x Seat F 5 x CastersD 1 x Base

 H 6 x M6x30 K 7 x M8x17 I 4 x M6x16 L 6 x M6x15J 3 x M8x25 M 3 x M8x13

E 1 x Gas Lift

E

B

L

H

C

D

F



knightgroup.co.nz

Assembly Instructions

Step 3

Step 4

Cygnet

G

A

K

M

I

J



knightgroup.co.nz

Assembly Instructions
Cygnet

Step 5

Complete


